w4 B

THES i RHEL RPN HPY
T | R IR BB PR R E | BAE KR i P2
N+
I T A +w m?® 77.7 77
[re=) m’ 0.6 0.6
R+ T FERE 1 FEE DA : 2. 5m A m’ 33.5 33
TEZEFE T T TESEFE H g m® 119.0 110
W L
A T e L 5342 m® 17. 4 17
& L m? 24.8 24
R
E¥ELT RAE SR IS 55K ) m® 95. 4 95
WOE - /NBUR m® 15.8 15
B ANFRAEL, i ] o> m’ 33.3 33
HriHEIE +wp m?® 25.9 25
Less m® 12.9 12
;’;ig;F A R—F A, $E35em, Ha M m? 64. 4 64
EL:;)O;X Ye3bem, oA e 68 6
AT A, b, H= ol m? 127.3 127

t=150




w4 B

THEET i RHEL RPN HPY
T | Gl IR BB PR R E | BAE KR i P2
FiAMEA T FLAREA RC-40 m® 89. 4 89
FERETL H=250 m 12.0 12
HeET2 H=300 m 2.5 2
RT3 H=350 m 22.0 22
T A AT H=593 m 9.7 9
TG FEAE T2 H=589 m 11.6 11
A FEAE TS H=589 m 3.0 3
/IO ET H>2m, =227 J—F m’ 6.5 6
BERGEAE A 2 F\ T DB H L mz o )
H>2m, Hif A
H>2m, A E A m” 42.9 42
ERVES SN A m® 21.4 21
T
%ﬁ?ﬁ%& BETTAF v KA AD 548 ke 9.5 9
G an
THEHERKT FHHH - 1EIH t=20cm m® 46.8 46
BB R B TR W=3. 0m m? 234. 0 234
BB BRI 22X 1524 X 3048 e 52.0 52




BOR BRI R

w4 B

THES i - ARHRRAUPRE RN N
T fii | fE IR GRS B B RF R BOE | B R & i} L3
B BRA R 0. 802t/ t 41.6 41.6
R L K+ 5 g N 5.0 5
P ft £ 17.0 17
[ES N 5.0 5
EREIHEA T A i 4.0 §
A T PR H 47.0 47

KR L




EVIE

LN = N =
+ T EEFE
)1+ T
) o ) FITK|F2TX|[HE3ITXR|(HE4TR|ESTX|F6 TX|H7TX .
Ll FRFE BNL | A 1 A
PEH1 +wb m3 77.7 2.7 23.8 8 2.2 14. 4 14 12.6
LICe) m3 0.6 0.0 0.6 0.0 0.0 0.0 0.0 0.0
%+ LI (2. bm ATH) m3 33.5 0.3 0.9 3.9 0.4 24. 6 1.6 1.8




& Mot T

T ITRE RS

F1IX
EE (£8) EH (Bs)
b=t 2B Bf(m) BrEmiEm2) FEHETEEm2] K FE(m3) ErmiE(m2) [FHETEEmM2] &K Em3) W E
NO. 0+ 1.2 — 0.5 — — 0.0 — —
NO. 0+ 4.0 2.8 1.4 0.95 2.7 0.0 0. 00 0.0
N F 2.8 2.7 0.0
& i 2.8 2.7 0.0




& Mot T

T ITRE RS

F1IRX
HFIRE T (25mKiE)
b=t 2B Bf(m) WrEfE(m2) [EHMmEEmM2) K FE(m3) WrmEiE(m2) [EHEmEEmM2] K FE(m3) =
NO. 0+ 1.2 — 0.1 — _
NO. 0+ 4.0 2.8 0.1 0. 10 0.3
N F 2.8 0.3
5 i 2.8 0.3




& Mot T

T ITRE RS

F2TX
EEl () EEI (FE)

P =1 BB Bf(m) BrEmiEm2) FEHETEEm2] K FE(m3) ErmiE(m2) [FHETEEmM2] &K Em3) W E
NO. 0+41. 0 — 2.5 — — 0.0 — —
NO. 0+47. 0 6.0 0.9 1.70 10.2 0.1 0.05 0.3
NO. 0+52. 9 5.9 3.7 2. 30 13.6 0.0 0.05 0.3

IhOF 11.9 23.8 0.6

& i 11.9 23.8 0.6




& Mot T

T ITRE RS

F2ITX
HFIFE +(2.5mkKiE)

P =1 BB Bf(m) BrEiE(m2) [FHOBrmiEm2) K E(m3) BTEiE(m2) [FHEEmiEm2] & E(m3) =
NO. 0+41. 0 — 0.1 — —
NO. 0+47. 0 6.0 0.1 0.10 0.6
NO. 0+52. 9 5.9 0.0 0. 05 0.3

N E 11.9 0.9

5 i 11.9 0.9




& Mot T

T ITRE RS

FITRX
EEl () EEI (FE)

P =1 BB Bf(m) BrEmiEm2) FEHETEEm2] K FE(m3) ErmiE(m2) [FHETEEmM2] &K Em3) W E
NO. 0+44. 7 — 1.4 — — 0.0 — —
NO. 0+51. 7 7.0 0.2 0. 80 5.6 0.0 0. 00 0.0
NO. 0+54. 7 3.0 1.4 0. 80 2.4 0.0 0. 00 0.0

IhOF 10. 0 8.0 0.0

& i 10.0 8.0 0.0




& Mot T

T ITRE RS

EITIRX
HFIFE +(2.5mkKiE)

P =1 BB Bf(m) BrEiE(m2) [FHOBrmiEm2) K E(m3) BTEiE(m2) [FHEEmiEm2] & E(m3) =
NO. 0+44. 7 — 0.2 — —
NO. 0+51. 7 7.0 0.6 0. 40 2.8
NO. 0+54. 7 3.0 0.1 0.35 1.1

N E 10.0 3.9

5 i 10.0 3.9




& Mot T

T ITRE RS

FA4TRX
EEl () EEI (FE)

P =1 BB Bf(m) BrEmiEm2) FEHETEEm2] K FE(m3) ErmiE(m2) [FHETEEmM2] &K Em3) W E
NO. 0+68. 0 — 0.9 — — 0.0 — —
NO. 0+70. 0 2.0 0.3 0. 60 1.2 0.0 0. 00 0.0
NO. 0+71. 5 1.5 1.0 0. 65 1.0 0.0 0. 00 0.0

IhOF 3.5 2.2 0.0

& i 3.5 2.2 0.0




& Mot T

T ITRE RS

F4TRX
IR+ (2.5mFKH)

P =1 BB Bf(m) BrEmiEm2) FEHETEEm2] K FE(m3) ErmiE(m2) [FHETEEmM2] &K Em3) W E
NO. 0+68. 0 - 0.0 — —
NO. 0+70. 0 2.0 0.2 0.10 0.2
NO. 0+71. 5 1.5 0.0 0.10 0.2

N F 3.5 0.4

5 i 3.5 0.4




& Mot T

T ITRE RS

FLE5IRX
EEl () EEI (FE)

P =1 BB Bf(m) BrEmiEm2) FEHETEEm2] K FE(m3) ErmiE(m2) [FHETEEmM2] &K Em3) W E
NO. 0+115. 0 — 1.6 — — 0.0 — —
NO. 0+123. 0 8.0 0.0 0. 80 6. 4 0.0 0. 00 0.0
NO. 0+130. 6 7.6 2.1 1.05 8.0 0.0 0. 00 0.0

IhOF 15.6 14. 4 0.0

& i 15.6 14. 4 0.0




& Mot T

T ITRE RS

E5IX
FIZX T (2.5mKH)

P =1 BB Bf(m) BrEmiEm2) FEHETEEm2] K FE(m3) ErmiE(m2) [FHETEEmM2] &K Em3) W E
NO. 0+115. 0 - 0.1 — —
NO. 0+123. 0 8.0 3.0 1.55 12. 4
NO. 0+130. 6 7.6 0.2 1. 60 12.2

IhOF 15.6 24. 6

5 i 15.6 24. 6




& Mot T

T ITRE RS

F6TRX
EEl () FIRRE 1 (2.5mEKiH)

P =1 BB Bf(m) BrEmiEm2) FEHETEEm2] K FE(m3) ErmiE(m2) [FHETEEmM2] &K Em3) W E
NO. 0+173. 0 — 1.5 — — 0.0 — —
NO. 0+176. 5 3.5 1.0 1.25 4.4 0.0 0. 00 0.0
NO. 0+180. 0 3.5 4.5 2.75 9.6 0.0 0. 00 0.0

IhOF 7.0 14. 0 0.0

& i 7.0 14.0 0.0




& Mot T

T ITRE RS

FO6IRX
IR+ (2.5mFKH)

P =1 BB Bf(m) BrEmiEm2) FEHETEEm2] K FE(m3) ErmiE(m2) [FHETEEmM2] &K Em3) W E
NO. 0+173. 0 - 0.2 — —
NO. 0+176. 5 3.5 0.3 0.25 0.9
NO. 0+180. 0 3.5 0.1 0. 20 0.7

N F 7.0 1.6

5 i 7.0 1.6




& Mot T

T ITRE RS

FIIRX
EEl () FIRRE 1 (2.5mEKiH)

P =1 BB Bf(m) BrEmiEm2) FEHETEEm2] K FE(m3) ErmiE(m2) [FHETEEmM2] &K Em3) W E
NO. 0+191. 5 — 1.1 — — 0.0 — —
NO. 0+196. 5 5.0 0.7 0. 90 4.5 0.0 0. 00 0.0
NO. 0+203. 0 6.5 1.8 1.25 8.1 0.0 0. 00 0.0

IhOF 11.5 12. 6 0.0

& i 11.5 12.6 0.0




& Mot T

T ITRE RS

F7IRX
HFIFE +(2.5mkKiE)

P =1 BB Bf(m) BrEiE(m2) [FHOBrmiEm2) K E(m3) BTEiE(m2) [FHEEmiEm2] & E(m3) =
NO. 0+191. 5 — 0.1 — —
NO. 0+196. 5 5.0 0.2 0.15 0.8
NO. 0+203. 0 6.5 0.1 0.15 1.0

N E 11.5 1.8

5 i 11.5 1.8




Ff 1] :

Fi AT

7 AL T AR RT3

vl

BAk

HAL

7 LAy

L+t

m3

119.0

119.0




BORlERLOET
JOyy KL nE
X 5

189. 5-33.5/0. 9-33. 3
PG B DA /0. 9—F [ 1> 4

119.0

TR TRk = N N =
i AL EEEE T
PEEI (BAb) = 7.7 SRR A= 33.5
PEEI (HCE) = 0.6
e TR () = 95. 4
R TR (HCE) = 15.8
i DA = 33.5
SR T HR= 33.3
mEl&E= 189.5 it ] o> M= 33.3
7% L

m3




EVIE

B L E G E
AT
o ) FI1ITR|[FE2TX|ESITX|H4 T.K 7T
Ll FRFE BNL | A
fa Lgra m2 17. 4 1.8 6.9 1.3 7.4
& m2 24. 8 4.5




R LSRR R E

% MoEET
F1IRX
o a

P =1 BB Bf(m) EERm) EEREmM) m F&(m2) EERm) EERmM) m F&(m2) W E
NO. 0+ 1.2 — 0.6 — —
NO. 0+ 4.0 2.8 0.7 0. 65 1.8

IhOF 2.8 1.8

5 i 2.8 1.8




& oHEET

R LSRR R E

F2TX
[

b=t 2B Bf(m) ER(m) EERMmM) m F&(m2) EE(m) EgERMmM) H E(m2) =
NO. 0+41. 0 — 0.7 — —
NO. 0+47. 0 6.0 0.3 0.50 3.0
NO. 0+52. 9 5.9 0.2 0.25 1.5

N E 11.9 4.5

5 i 11.9 4.5




& oHEET

R LSRR R E

FEITRX
wZ

b=t 2B Bf(m) ER(m) EERMmM) m F&(m2) EE(m) EgERMmM) H E(m2) =
NO. 0+44. 7 — 0.7 — —
NO. 0+51. 7 7.0 0.7 0.70 4.9
NO. 0+54. 7 3.0 0.6 0. 65 2.0

N E 10.0 6.9

5 i 10.0 6.9




& oHEET

R LSRR R E

F4TRX
o a

P =1 BB Bf(m) EERm) EEREmM) m F&(m2) EERm) EERmM) m F&(m2) W E
NO. 0+68. 0 — 0.5 — —
NO. 0+70. 0 2.0 0.4 0. 45 0.9
NO. 0+71. 5 1.5 0.1 0. 25 0.4

IhOF 3.5 1.3

5 i 3.5 1.3




& oHEET

R LSRR R E

E5IX
[

P =1 BB Bf(m) EERm) EEREmM) m f&(m2) EERm) EERmM) m F&(m2) W E
NO. 0+115. 0 — 0.7 — —
NO. 0+123. 0 8.0 1.0 0. 85 6.8
NO. 0+130. 6 7.6 1.0 1. 00 7.6

IhOF 15.6 14. 4

5 i 15.6 14. 4




& oHEET

R LSRR R E

FO6IRX
[

P =1 BB Bf(m) EERm) EEREmM) m F&(m2) EERm) EERmM) m F&(m2) W E
NO. 0+173. 0 — 1.0 — —
NO. 0+176. 5 3.5 0.9 0. 95 3.3
NO. 0+180. 0 3.5 0.6 0.75 2.6

IhOF 7.0 5.9

5 i 7.0 5.9




& oHEET

R LSRR R E

F7TIRX
wZ

b=t 2B Bf(m) ER(m) EERMmM) m F&(m2) EE(m) EgERMmM) H E(m2) =
NO. 0+191. 5 — 0.8 — —
NO. 0+196. 5 5.0 0.6 0.70 3.5
NO. 0+203. 0 6.5 0.6 0. 60 3.9

N E 11.5 7.4

5 i 11.5 7.4




TR L T A E
iR EELT
B2+ T
A Bl O BAL | /N B F1IIR|FE2 X[ $E3 LK |[$4 LX|[H5 LX|[H6 TK[H7 LK fii

R IR +Ab AR m3 95. 4 4.5 2.7 3.9 4.6 47.9 13.9 17.9

LRIy 1Y m3 15.8 0.0 9.5 4.0 0.0 0.0 0.0 2.3

IR
MR i [ o> JHE m3 33.3 2.1 1.2 0.7 1.8 15.5 5.4 6.6




TR L T A E
iR EELT
B2+ T
| fS S ==V VA IV Eagr | EeEr | R | EmEr | Efr | Emr | Ao fi5
FITR|E2TK|E3TKR|E4TK|E5 TX|HE6 TR|HE7TK
LR +-hb m2 25. 1.8 2.2 11.5 5.0 5.4
= m2 12. 7.1 4.4 1.4




7 LR L TR R

iR EELT
B2+ T
il PST AL | /) ANOIET [ha T An TRk T a kT ]
F1 IR E2 IXK|HE3TX|HE5 TR|HE6 LK
LR +-hb m2 0.3 0.4 0.4
= m2 0.4 0.3




A TR R &

% MoExEXT
F1IRX
PRYE (7D /N RAE) PRYE (B A /MR

b=t 2B Bf(m) BrEmiEm2) FEHETEEm2] K FE(m3) ErmiE(m2) [FHETEEmM2] &K Em3) W E
NO. 0+ 1.2 — 1.6 — — 0.0 — —
NO. 0+ 4.0 2.8 1.6 1. 60 4.5 0.0 0. 00 0.0

N F 2.8 4.5 0.0

5 i 2.8 4.5 0.0




A TR R &

% MEERELETT -
F1TX
BERUMEE)
b=t 2B Bf(m) WrEfE(m2) [EHMmEEmM2) K FE(m3) WrmEiE(m2) [EHEmEEmM2] K FE(m3) =
NO. 0+ 1.2 — 0.8 — _
NO. 0+ 4.0 2.8 0.7 0. 75 2.1
N F 2.8 2.1
5 i 2.8 2.1




% MEELT

A TR R &

F2ITX
PRYE (L858 /MRAR) PRYE (80 /MRIR)

P =1 BB Bf(m) BrEmiEm2) FEHETEEm2] K FE(m3) ErmiE(m2) [FHETEEmM2] &K Em3) W E
NO. 0+41. 0 — 0.3 — — 0.6 — —
NO. 0+47. 0 6.0 0.0 0.15 0.9 1.0 0. 80 4.8
NO. 0+52. 9 5.9 0.6 0. 30 1.8 0.6 0. 80 4.7

IhOF 11.9 2.7 9.5

5 i 11.9 2.7 9.5




% MEELT

P TR

F2ITX
BROMRE)

P =1 BB Bf(m) BrEiE(m2) [FHOBrmiEm2) K E(m3) BTEiE(m2) [FHEEmiEm2] & E(m3) =
NO. 0+41. 0 — 0.2 — —
NO. 0+47. 0 6.0 0.0 0.10 0.6
NO. 0+52. 9 5.9 0.2 0.10 0.6

N E 11.9 1.2

5 i 11.9 1.2




% MEELT

A TR R &

EITIRX
PRYE (L858 /MRAR) PRYE (80 /MRIR)

P =1 BB Bf(m) BrEmiEm2) FEHETEEm2] K FE(m3) ErmiE(m2) [FHETEEmM2] &K Em3) W E
NO. 0+44. 7 — 0.4 — — 0.4 — —
NO. 0+51. 7 7.0 0.4 0. 40 2.8 0.4 0. 40 2.8
NO. 0+54. 7 3.0 0.3 0.35 1.1 0.4 0. 40 1.2

IhOF 10. 0 3.9 4.0

5 i 10.0 3.9 4.0




% MEELT

P TR

EITIRX
BROMRE)

P =1 BB Bf(m) BrEiE(m2) [FHOBrmiEm2) K E(m3) BTEiE(m2) [FHEEmiEm2] & E(m3) =
NO. 0+44. 7 — 0.0 — —
NO. 0+51. 7 7.0 0.1 0. 05 0.4
NO. 0+54. 7 3.0 0.1 0.10 0.3

N E 10.0 0.7

5 i 10.0 0.7




% MEELT

A TR R &

F4TRX
PRYE (L858 /MRAR) PRYE (80 /MRIR)

P =1 BB Bf(m) BrEmiEm2) FEHETEEm2] K FE(m3) ErmiE(m2) [FHETEEmM2] &K Em3) W E
NO. 0+68. 0 — 1.3 — — 0.0 — —
NO. 0+70. 0 2.0 1.3 1.30 2.6 0.0 0. 00 0.0
NO. 0+71. 5 1.5 1.3 1.30 2.0 0.0 0. 00 0.0

IhOF 3.5 4.6 0.0

5 i 3.5 4.6 0.0




% MEELT

P TR

F4TRX
BERUMRE)

P =1 BB Bf(m) BrEmiEm2) FEHETEEm2] K FE(m3) ErmiE(m2) [FHETEEmM2] &K Em3) W E
NO. 0+68. 0 - 0.5 — —
NO. 0+70. 0 2.0 0.5 0. 50 1.0
NO. 0+71. 5 1.5 0.5 0. 50 0.8

N F 3.5 1.8

5 i 3.5 1.8




% MEELT

A TR R &

E5IX
PRYE (L858 /MRAR) PRYE (80 /MRIR)

P =1 BB Bf(m) BrEmiEm2) FEHETEEm2] K FE(m3) ErmiE(m2) [FHETEEmM2] &K Em3) W E
NO. 0+115. 0 — 3.3 — — 0.0 — —
NO. 0+123. 0 8.0 2.4 2.85 22.8 0.0 0. 00 0.0
NO. 0+130. 6 7.6 4.2 3. 30 25. 1 0.0 0. 00 0.0

IhOF 15.6 47.9 0.0

5 i 15.6 47.9 0.0




% MEELT

P TR

E5IX
BROMRE)

P =1 BB Bf(m) BrEmiEm2) FEHETEEm2] K FE(m3) ErmiE(m2) [FHETEEmM2] &K Em3) W E
NO. 0+115. 0 - 0.9 — —
NO. 0+123. 0 8.0 0.6 0.75 6.0
NO. 0+130. 6 7.6 1.9 1.25 9.5

IhOF 15.6 15.5

5 i 15.6 15.5




% MEELT

A TR R &

FO6IRX
PRYE (L858 /MRAR) PRYE (80 /MRIR)

P =1 BB Bf(m) BrEmiEm2) FEHETEEm2] K FE(m3) ErmiE(m2) [FHETEEmM2] &K Em3) W E
NO. 0+173. 0 — 2.9 — — 0.0 — —
NO. 0+176. 5 3.5 2.0 2.10 7.4 0.0 0. 00 0.0
NO. 0+180. 0 3.5 1.7 1.85 6.5 0.0 0. 00 0.0

IhOF 7.0 13.9 0.0

5 i 7.0 13.9 0.0




% MEELT

P TR

FO6IRX
BERUMRE)

P =1 BB Bf(m) BrEmiEm2) FEHETEEm2] K FE(m3) ErmiE(m2) [FHETEEmM2] &K Em3) W E
NO. 0+173. 0 - 0.7 — —
NO. 0+176. 5 3.5 0.8 0.75 2.6
NO. 0+180. 0 3.5 0.8 0. 80 2.8

N F 7.0 5.4

5 i 7.0 5.4




% MEELT

A TR R &

F7IRX
PRYE (L858 /MRAR) PRYE (80 /MRIR)

P =1 BB Bf(m) BrEmiEm2) FEHETEEm2] K FE(m3) ErmiE(m2) [FHETEEmM2] &K Em3) W E
NO. 0+191. 5 — 1.9 — — 0.0 — —
NO. 0+196. 5 5.0 1.6 1.75 8.8 0.4 0. 20 1.0
NO. 0+203. 0 6.5 1.2 1. 40 9.1 0.0 0. 20 1.3

IhOF 11.5 17. 9 2.3

5 i 11.5 17.9 2.3




% MEELT

P TR

F7IRX
BROMRE)

P =1 BB Bf(m) BrEiE(m2) [FHOBrmiEm2) K E(m3) BTEiE(m2) [FHEEmiEm2] & E(m3) =
NO. 0+191. 5 — 0.7 — —
NO. 0+196. 5 5.0 0.6 0. 65 3.3
NO. 0+203. 0 6.5 0.4 0. 50 3.3

N E 11.5 6.6

5 i 11.5 6.6




EELT (R 1)

430
Qv y—k 100 330
18—8—40\
- 3| \
L —
Lot | [y
{113 Dl
g. p—
X /'a(
SLa 1) — /
BL 71)—F _ 630
FA4TXIERE= 3.5 m
HBT7TIXERE= 8.5 m
- M H B = BN & |
p7o [if] i E | #4TK
+# | 0.630%3.5 m? 2.2
# i) i E | H7TK
+# | 0.630%8.5 m? 5.4




EELT (LT 2)

eI
520
420 100
a9 —k
/7 18-8-40
% =] T
E =
BmLavyol)—4k P R
N —
™ S
120
#1 LXIEE= 2.5 m
& i =1 = AT | %% B G
3 [if] % 1 TR
+ 0. 720%2. 5 m2 1.8




EELT (LT 3)

e
550
a4 1)—k (100 450
18-8-40
i
o \
= e
[ |
[
i C:}'
g p—
— ﬁ
3 - 1] — /
¥5 LXIER= 15.3 m
/6 LXIER= 6.7 m
i wmooH B = BN & = | =
# i) i E | #5TK
+w | 0.750%15. 3 m? 11.5
# i) i E | %6 X
+# | 0.750%6. 7 m? 5.0




TR LT CarEErl)

(0. 100+0. 350) *9. 7

e R
456 BRIV ) —F
18-8-40
//
.'.).
o
= =
100 =2
mLavs)—+k >
% N
3"&' I‘"'. %%9" ---r‘
'\.\\IF-— - -
B3 TKERE= 9.7 m
i woH A = XA = | i B
*om & OF | #3T1TK
%




BT CaRiETr2)

EsHER)

BEaL Y-k
18-8-40°\

589

, 513
N
\\}{
Ly
<
~,
3
‘]1 O \ \

\#Lavyy—r

2 LXER= 1.9 m

i WA L X AL %% 5| 1
p7o [if] i E | H2TK
#E | (0. 100+0. 500)*11. 9 2




R+ T CEEREMT3)

el

v '

" / 18-8-40

J/
j_
g ~
° S 2
BHLarvyl)—r \°
S

= WAL B W om

e

B
E | F2TX
= | (0. 100+0. 350) *3 2




e LT (hAlkTl) AU Y
969

EEEEIEE %
L - TAY= TR TTM

fiE M H e 2 EEARE~ =l ] -4
*® oom ¥ E
0. 969%0. 300
)




B+ T (hA1kT2)

EsHER)

90
193
B 10
309
- W H 1 =Y =R VAE - 'q | B
R
= B B F (0. 100+0. 500+0. 793) %0. 300
Bk :




B+ T (hA1kET3)

e
S
640
]
300
Fili wmooH " = BN & = | =
&z om ¥ E
(0. 640+0. 350+0. 100) *0. 300
+ab m? 0.3




B+ T (UhOIET5)

EsHER)

1002
300, 894
g
=':|n.
BEEEHE /
AL RDEL
PN Rl
"“‘&m__.-"' H-"l 18-8-40
1277
1385
i A H B 2V BT 2% & | =
3 B F
M 1. 385%0. 300
b




B2+ T UhRIET6)

4
1002
300 HERERI% 894
B0 Ly
a921)—F
18-8-40
= S
1198
1306
WM H 5 it W o R B ®
R
Boom o BOE 6k, 300
£ m? 0.4




0 | =& -

IhAERE AR

AP

N FBIIX | F2IX | E3TX | F4TX | E5ITX | 6 LK | 7 LK
T i i il 4 e E - % X | % X | % X | % X | % X | % X | % X
AN—F A $E35cm
A=A =R/ =S N1 m?> 64. 23.6 6.8 34.0
AN—F A $E35cm
HaLf =100 m? 6. 6.8
AN—F A $E35cm
HaLf  t=150 m? 127. 47.9 56. 0 23.4
A= 27 Y — k 18-8-40 m® 43. 1.5 10.5 5.2 1.5 12.3 5.1 7.5
HiAaL 7 U — |k 18-8-40 m® 19. 0.7 7.2 8.4 3.5
HOA RC-40 m® 89. 2.8 15.6 8.0 3.2 30. 2 12.3 17.3
H #kt t=10 m?> 5. 2.1 1.8 1.4
FERE T H=250 m 12. 3.5 8.5
FERET2 H=300 m 2. 2.5
FERET3 H=350 m 29. 15. 3 6.7
AT H=593 m 9. 9.7
EEREET2 H=589 m 11. 11.6
EAEEETS H=589 m 3. 3.0
AT H>2m, =227 J—Fh m® 6. 0.8 2.6 0.6 1.4 1.1
WERSTRAER 2 FH U 2RO L
H>2m, fijmm e m?> 4. 0.9 1.2 0.5 1.3 1.0




0 | =& -

IhAERE AR

AP

- FBIIX | FE2IXK | HE3LX | #4 T | &5 X | = X | X
T i i il 4 e E - % X | % X | % X | % X | #H5LX | 6L | F7LX
H>2m, 8l A m?> 42.9 5.6 17.4 3.8 9.1 7.0
SRS B9 17 A7 m?’ 21.4 1.4 7.0 2.5 6.2 4.3
A= 27 Y — k 18-8-40 m® 3.0 0.2 1.0 0.3 0.9 0.6
HiAa L7 ) —k 18-8-40 m® 1.8 0.1 1.0 0.1 0.6




v 71

e

o B mIoyy MAETT TYRIMTIT
WeS \ /R—52 #E3Hem
=AW\ /R—F R {#35cm
300 ‘ ‘ 500
JoysEIn ||
L=2500
=
&
& NO. 0+4.0 NO. 0+1. 2
éﬁ” .
== =P
N 2R 23
| THE=Y o |loy o —
= |4 -— | 1 oo e e
1 o~ | I
o e I
Lin
HEiET?
L=2500
T F& mooH B E2V BALT| $ & C2)
7= A = B R/
o 2.703%2. 500 ‘
AN—F A $E35cm m’ 6.8
JAA= > 27 U — K
6. 8%0. 22 \
18-8-40 m 1.5
HiAzarZ Y — |
6. 8%0. 100
18-8-40 t=10cm m° 0.7
HoOA B |
)\ H, g A—k-%: ‘
RC-40 HEOAEAFTEELY 3 58
e itk T 2
H=300 m 2.5




7ay L2

e

WJovy
R—3 A, $#3b5cm

H
I NOLET2
JoyA~iI2 L=11600 300 FUMEFI2
2545
6000 5600
NO. 0+52. 9
NO. 0+47.0 Via. 15
NO. 0+41. 0 V104,10 —
V103. 44 —
=4 o~ 2
- SIS I3 S 3
3|3 SR =~
(s REap) x|
|1
EEEHET? [=11600 ﬂ
T & o H = = AL %% B | )
= A = S
3. 533+4. 271) %6. 000+ (4. 271+4. 472) *5. 600) /2
R—TF A, $£35cm (« ) ( ) )/ m? 47.9
A= 27 U — 1
47. 9%0. 22 ‘
18-8-40 m® 10.5
H A > J — kK
Rid= 7 V= 00 150
18-8-40 t=15cm m® 7.2
=AM 4|
A R R E (
RC-40 HEOAEAFTEELY 3 56
#
i e & 47.9/11. 6% (0. 350+0. 150) , B
t=10 m 2.1 | 1f%57/10m
w oA H O T 2
=589 m 11.6




A=RIE/ T EN

MY
0
B
#ioyy \ \s
R—3F R, f#35cm 2,
\1 S
L 8
2 &
D7D — v
18-8-20 \ S
VL
TARE \&
RC-40 “‘ \
g \ X [ |
ERERILACK, ,
TYMHI3  MOLETS
1592 300
70y HHI3 L9700
2700 4700 2300
NO. 0454, 7 NO, 0+51.7
vi02. 98 ‘ N0, 0+47. 0
SRR VIRE . G Wi
= 2z S sl
2 R S Sl 2|2 gs
NI #L o S| & ﬁ
|
500 SRR L9700
T FE A H ) X AL %K | %
B 7w v 7| ((2.25142. 369)%2. T00+ (2. 369+2. 563) *4. 700
Fe—T 2 pgsen | (2. 563+2. 456)%2. 300) /2 m? 23. 6
WA= > 27 U — k
93. 6%0. 22 )
18-8-40 m 5.2
A o om| .
IAMEAFREELDY
R0 | oA m? 8.0
PSR I |
1=593 m 9.7




Ty JiEI14

e

Q,QQ Eég"\

#onvy
JR—2 A, #35cm

)
fAaAaro1)—F ) = 3 .
==Y W, = 0w 2iEI4 1=3500
L%J é _
\ X 16500 2000
AR
RC-40 .
NO.0+71.5 NO. 0
BT 0+70.0
| T 1
2|2 SR o Im:r
Tl S| = |5
o i | I3
HEET1T [=3500
I 7 mooH B E2V BN & | C2)
7 S = S /4
H—5 2 Pe3sen ((1.993+1.939) *1. 500+ (1. 939+1. 874) *2. 000) /2 2 63
A=z 27 ) — k
6. 8%0. 22 )
18-8-40 m® 1.5
= 1A o A
. p—
RC-40 AL RTAEEL Y o 5 9
X itk T 1
H=250 m 3.5




A=/ T E N

e

P

ms=7Yy Jbp
R—3 A, 1#35m, E7))
/\ 756

% =
‘;’ 18-8-40
i AR
RC-40
i T EmAavsy—+ INAIET?
8| e 300 | FymHT2
Joys T L=15300 2415
8000 7300
NO. 0+130. §
NO.0+123.0 V108.18
NO.0+115.0 V101.76
vi07.31
ER#T3 1=15300 50
T ff o H B = AL %% & i
7= A = B R/
. ((3.399+3. 734) *8. 000+ (3. 734+3. 779) ¥7. 300) /2 ,
AR—F A, $E35cm m 56. 0
JAA= > 27 U — K
56. 0%0. 22 ‘
18-8-40 m® 12.3
HEAa 7 J— b
=5 56. 00%0. 150
18-8-40 t=15cm m® 8.4
=AM 4 .
AL A E LD (
Re-qo | *OOMHAE m? 30. 2
H H B
56. 0/15. 3% (0. 350+0. 150) ‘ .
t=10 m? 1.8 | 1f&FT/10m
5 itk T 3
H=350 m 15.3




71:’ /&*,516 S )

5]

#Jovy
R—F R, #36cm |\

~ eI
A
- S 18-8-40
S < J EARE INAETS
g Y RG-40 +yi+T3 | 300
2 / L2020 1 70y iEI6 [=6700
3200 3500
4 S 57 20 s
=] 18-8-40 NO. 0+180.0
- NO. 0+176.5 Vi,
523 . + .
RHELI v110. 59
NO. 0+173.0 E—
v109. 90
b=
o= 8|
olw pa = A
I=1k= > | SLaT
2|3 9| & =| 4
il L)L
E———
E@ EEET3 1=6700
T fE - M H B = HifT| H & | 2

5= S A = S
. ((2.896+3. 477) *3. 200+ (3. 477+4. 047) *3. 500) /2 ‘
AN—F A, $E35cm m? 23.4

JAA= > 27 U — K

23. 4%0. 22 ‘
18-8-40 m’ 5.1
HAaL 7 Y — F
s ) | 23. 40%0. 150
18-8-40 t=15cm m° 3.5

HOA M AT
RC-40 m’ 12.3

A o#® T 3
H=350 m 6.7




A=RIE/ - S

EIE
BJovy 5 T
m“ﬁ“ /m %_QQ% Ezg;g 5o
LN
\ (\% BaAa y?g!fsqu A\
L8 S
s 9 £
% EARA I
= RC-40
EDNCI
RC-40
HET1 = .
= IOy AT L=11500
6500 5000
NO. 0+203. 0
e
NO. 0+191. 5
ole v110. 63
Sls Qe
L% i SE
i 23
EEEMTY
 ERETI =350 L=3000 HFET1 1=5000
T f# oA = 2y EERVARE " s B | W )
B 7w w7 | (2.616%3. 500+ (2. 616+3. 600) /2%3. 000+ (3. 600
H—F = {E35em | +2. 594) /2%5. 000 m? 34.0
A= 27 U — 1
34. 0%0. 22 ‘
18-8-40 m® 7.5
- N o < )
AR A E LD
Re-qo | T SMHAETSE m? 17.3
H Hi %
# 34. 0/8. 5%0. 350 -
t=10 m? 1.4 | 1#F7/10m
F it T 1
3. 500+5. 000
H=250 m 8.5
= oA B O L 3
H=250 m 3.0




& #-JovsEIA

P TR

F1IRX
EIABHA(RC-40)
P =1 BB Bf(m) BrEiE(m2) [FHOBrmiEm2) K E(m3) BTEiE(m2) [FHEEmiEm2] & E(m3) =
NO. 0+ 1.5 — 1.1 — — NO. 0+1. 2% B|FH
NO. 0+ 4.0 2.5 1.1 1.10 2.8
IhOF 2.5 2.8
5 i 2.5 2.8




P TR

& ®-JovsiEI2
F2TRX
EIABHA(RC-40)
P =1 BB Bf(m) BrEiE(m2) [FHOBrmiEm2) K E(m3) BTEiE(m2) [FHEEmiEm2] & E(m3) =
NO. 0+41. 0 — 1.2 — _
NO. 0+47. 0 6.0 1.2 1. 20 7.2
NO. 0+52. 6 5.6 1.8 1. 50 8.4 NO. 0+52. 9% 5|
IhOF 11.6 15.6
5 i 11.6 15. 6




& #:-JOovsEIS

P TR

FI3TIRX
EIABHA(RC-40)
P =1 BB Bf(m) BrEiE(m2) [FHOBrmiEm2) K E(m3) BTEiE(m2) [FHEEmiEm2] & E(m3) =
NO. 0+44. 7 — 0.9 — _
NO. 0+51. 7 7.0 0.8 0.85 6.0
NO. 0+54. 4 2.7 0.7 0.75 2.0 NO. 0+54. 74 5|
IhOF 9.7 8.0
5 i 9.7 8.0




% M.JovsiEIA4

P TR

F4TRX
EIABHA(RC-40)

P =1 BB Bf(m) BrEiE(m2) [FHOBrmiEm2) K E(m3) BTEiE(m2) [FHEEmiEm2] & E(m3) =
NO. 0+68. 0 — 0.9 — —
NO. 0+70. 0 2.0 0.9 0. 90 1.8
NO. 0+71. 5 1.5 0.9 0. 90 1.4

IhOF 3.5 3.2

5 i 3.5 3.2




& #:.JovsEIS

P TR

FE5ITX
EIABHA(RC-40)
P =1 BB Bf(m) BrEiE(m2) [FHOBrmiEm2) K E(m3) ErmiE(m2) [FHETEEmM2] &K Em3) =
NO. 0+115. 0 — 1.9 — —
NO. 0+123. 0 8.0 2.0 1.95 15. 6
NO. 0+130. 3 7.3 2.0 2. 00 14. 6 NO. 0+130. 6% 5|
IhOF 15.3 30. 2
5 i 15.3 30. 2




P TR

& #:-JovsiEIe

FE6ITRX
FIARH(RC-40)
P =1 BB Bf(m) BrEmiEm2) FEHETEEm2] K FE(m3) ErmiE(m2) [FHETEEmM2] &K Em3) W E
NO. 0+173. 3 — 1.5 — — NO. 0+173. 0% 3| F
NO. 0+176. 5 3.2 1.8 1.65 5.3
NO. 0+180. 0 3.5 2.2 2.00 7.0
N 6.7 12.3
5 i 6.7 12.3




P TR

& #e-JovsiEI7

F7IRX
EIABHA(RC-40)
P =1 BB Bf(m) BrEiE(m2) [FHOBrmiEm2) K E(m3) ErmiE(m2) [FHETEEmM2] &K Em3) =
NO. 0+191. 5 - 1.2 — — NO. 0+173. 0% 3| F
NO. 0+196. 5 5.0 1.8 1.50 7.5
NO. 0+203. 0 6.5 1.2 1.50 9.8
IhOF 11.5 17.3
5 i 11.5 17.3




/IEIET 1

L& T4 0

969
4 /BLEELEL —
fEpd= 1.0 f&pT
T fE | 1 = AL K o T G
a2 > 7 U — b
0. 969*2. 910*0. 300 5
18-8-40 m’ 0. 846
il i BLOR | EERSIREA A O B L
— % - Ay | 2. 910%1. 077%0. 300 m? 0.940
(il [T R =
0. 969%2. 910%2
] m? 5. 640




L& T4 0

/N IET. 2
1002
300 894
SR A
ALFERLEL // 4
= /T
18-8-40 / /
g < . f’a
o < Bz //
g J."ll’
1w S/
wn/ / f
=
559
W= 1.0 157
5 EIE f FIT
T & i B X HAAT| 3K ]
2 7 U — b | ((1.002+1. 352) *3. 500+ (1. 072%0. 659) %0. 589
E[] if] pil} P | R A & - BE D L
- mfg; | 3. 500%1. 118%0. 300 m? 1.174
B m B M| (1. 002+1. 352) %3. 500+ (1. 072%0. 659) %0. 589
— i - g | +(0.559%0. 224) /2) %2 m” 17.435




/INETET. 3

L& T4 0

899
SHE R LR %
754 AutslmL 30
W
AL\
S = %
\". \\\ P ull
"-\I \91 A > E
avH=F N -
18-8-40 |\ 833 3
317
477 &= 1.0 f&pT
T fi oA 1 E20 HARL| 2 ] £
2 v 7 ) N1 ((0. 859+1. 017) /2%1. 590+ (0. 833+0. 477) /2%0. 593
18-8-40 | +0.377%0. 130/2)*0. 300 m’ 0.571
A B P | R A O TR L
i« AmA | 1. 590%1. 0770, 300 m? 0.514
- m B B | ((0.859+1.017) /21, 590+ (0. 833+0. 477) /2%0. 593
— i - MR | +0. 377%0.130/2) %2 m” 3.809




L& T4 0

/INAIET. 5
1002
300 894
-\.*f.’;’
BEEIHE /
AL=RLEL /
a9 —Fk
; 18-8-40
1277
[ o 1.0 Yoz
1335 & T EL & T
T M - M H ) = R IVARE ' |
= 7 U — bk
(1. 002+1. 385) /2%3. 830%0. 300
18-8-40 m' 1. 371
A B P IR A O P BEOH L
— % - Ay | 3. 830%1. 118+%0. 300 m? 1. 285
Al pinll
W R ff (1. 002+1. 385) /2%3. 830%2
— % - m?® 9. 142




/JINEIET. 6

L& T4 0

1002
300 RERIEA % 894
FULV=ZE0H LY
avyl—+F
18-8-40
Q—D ll.ln’ll
= <
= ~
1198
1% T = 1.0 f&pr
1306
T ff Al 1 = =R VAE - 'q = | i B
=)
(1. 002+1. 306) /2%3. 040%0. 300 )
18-8-40 m 1.052
Al [idi] ei] P | ERRERAER 2 B0 L
- g | 3. 040%1. 118%0. 300 m? 1.020
Bl 7
Wowm = R (1. 002+1. 306) /253, 040%2
— % - B m? 7.016




ERUES Ny

LEFTE Y

@Q IOIETT YT
%\ ] 300 ‘ 500
W N % HEA JOyO®|I | |

N AEMoniEE [=2500

. \“\P NO. 0+4. 0 NO. 0+1. 2

%_., Vi00.71. v100. 57
A H ) — R/ \% ]
18-8-40 \ -
W = 2 ) o
EAaLHY—h IS 5|8 ols
Y nfn o~ o D —
18-8-40 \ =\ =T SIEYT
— - L1,
____———___:—_———___————_______
ERET?
L=2500
N= 1.0 &
T F - M H % 29 CTTAE S A

%o m A
) BT (3. 134+2. 369) /210, 500 )
A4 em L m 1. 376

o) —
R 2 ] arek0. 139
18-8-40 m® 0.191

HAz > 7 U—Fh
1. 376%0. 1 ‘
18-8-40 t=10cm m® 0.138




T T2 LR b

HEA
AEddeniEE

N
N
)
RS INALET?
Ty HBI2 L=11600 300 FYMHI2
2545
6000 . 5600
D 0550,
NO. 0+47.0 VIR5B,
N0, 0+41. 0 V10.10
V103, 44 _
8§ R
e SIS T SF I
2 iy 5
|5
SEERT? L=11600 : !@4
N= 1.0 &
T Ff - M H 1 =Y =R VAE - 'q | B

By it} el H
) BT (. 54540 500) /24, 572 )
ARAAemFR m 6. 961

o
i 2 U= Mg 9610, 139
18-8-40 m’ 0. 968

HiAza 7 J—
6. 961%0. 150 ,
18-8-40 t=15cm m’ 1. 044




T AHTT3 R

. BER
1 EfEddontEE

‘D,Kg FYRHTS MNOLETS
o \&
Y >\ 1592 300
F2avy)—t/ i =
18-8-40 J0yH I3 L=9700
\ 200 4700 2300
A - =
NO. 0+54, 7 N0 0+51. 7
v102.98 0r°a: T ND.0+47.0
— YRS Ve Vit
2 N S NS 3|8 S
= A = ik ok 5
200 | EERT] 129700
N= 1.0 PR
T f - M H B 2V AL K & | =

¥ m H
) B (1 50240, 500) /242 351 )
A P44 em TR E m 2. 459

o —
i iz o 450%0. 139
18-8-40 m? 0.342




ERUERE DN

LEFTE Y

FEa
BiZ4dcmigrE

o
o

&
7

~7

@Az o1—+

MAET2
18-8-40 ) 300 | FudTe
JOw 42 #EI5 1=15300 . 2415
8800 6500
NO. 0+130. §
NO.0+123.8 V108.18
NO. 0+115. 0 V10776
V107 31 T
EBET3 L=15300 B0
N= 1.0 f&7F
T f - # H " = BN & = | =
i e [i9] el T
, (2. 415+0. 500) /2%#4. 282 ,
A4 em R E m 6. 241
A= > 27 U — |k
e 6. 241%0. 139
18-8-40 m? 0. 867
HiAza 7 J—
6. 241%0. 150

18-8-40 t=15cm

m?® 0. 130




T3
/ FYFEFTI| 300
2020 | IOy HiEI6 L=6700
3200 ) 3500
EAaLHY—F T
18-8-40 NO. 0+180. 0
V111,28
i N
Aoy )—+k NO. 0+173. 0
18-8-40 v109. 90
b=
o~ S|
e S| L)1
=i S 2L
3|3 R
I I = |
= |
E——
E@ HEET3 1=6700
N= 1.0 T
T Ff - M H 1 =Y =R VAE - 'q = | i B

By it} el H
) BT (2. 02040, 500) /2+3. 309 )
A4 em L m 4. 283

o
R 2 U Ry ag3k0. 139
18-8-40 m? 0.595

HiAza 7 J—
4. 283%0. 150 ‘
18-8-40 t=15cm m’ 0. 642




AT 1

10m¥4 v
430
avhyy—k 100 330
18—8—40\
[,
- 8 \
Lo )
[N (== B
D|
gl p—
Y /j
yLavy 'J—h/
] 630
T ff MooB 1 = =R VAE - 'q = | i B
2 ¥ 7 U — b
(0. 430%0. 250-0. 330%0. 150,/2) %10 )
18-8-40 m' 0.828
JEI
- e (0. 250+0. 100) %10
— % m? 3. 500
2 : U —
BLay 7 V= esos10
t=10cm m? 6. 300
3 LA
# R 0. 100%2%10 )
m 2. 000
!
: t | 0. 430%0. 250-0. 330%0. 150/2 )
t=10mn m? 0.083 | 1f&AT/10m




AT 2

10m3¥4 Y
920
420 100
Av7—=k
/7 18-8-40
& . |
. ~ o
BpLavol)—+Fk I R
N 3]
—
'::..
120
T & - # B " =Y =R VAE - 'q | B
2z v 7 Y — b
(0. 520%0. 300-0. 420%0. 200,/2) %10 ,
18-8-40 m’ 1. 140
)jg
e (0. 300+0. 100) *10
— % m? 4. 000
BLay 7 U= r 0 a0
t=10cm m? 7.200
L s 0. 100%2%10

m?® 2.000




FLAETS

10m3¥4 Y
550
avs)—k 100 450
18-8-40
[
o \
2 o
o
[ 3 T
i {:}'
g p—
ey /ﬁr
= = :-/ 1) — /
L 71)—k | 750
T Ff - M H 1 =Y =R VAE - 'q | B
2 v 7 U — bk
(0. 550%0. 350—0. 450%0. 250,/2) %10 )
18-8-40 m’ 1.363
JEI
- e (0. 350+0. 100) %10
— % m? 4. 500
gL =L U —
HWl=ayzY—F 0. 750%10
t=10cm m? 7.500
43 L pil]
# R 0. 100%2%10 )
m 2.000
1
: t &l 0. 550%0. 350—0. 450%0. 250,/2 B
t=10mm m? 0.136 | 1%i¥/10m




EAEEE T 1

10m¥4 v
456 BEaIVS)—F
/ 18-8-40
.‘"J..
o
. [
= [
100 =
HLavyl)—+k _
J";::;- e I‘I‘I“".
Y- “\\\ %CJ‘;LH,,-?\*.
\‘fi"’-’-—f
T Ff - M H 1 = =R VAE - 'q = | i B
W o s ) —
BRI 27 )= M 45640, 100) /240, 593410 )
18-8-40 m 1. 649
BLar7 =M 50
t=10cm 2

m 3. 500




AR 2

10m3¥4 Y
#BRaVY )=k
18-8-40 \ 53
\
R
o <
3 ~
e
]0 '\_\
- \\ Y,
\gLavsy—¢
T f - # H " = BN & = | =
MRz 7 U —
= ) ) (0. 513+0. 100) /2:%0. 58910 ;
18-8-40 m" 1. 805
s3I i S U —
# 7Y b 0. 500%10
t=10cm m? 5. 000
#
: t & (0. 513+0. 100) /2%0. 589+0. 500%0. 100 B
t=10mm m? 0.231 | 1f4/97/10m




AR T 3

10m¥4 v
513 BEaVS ) —Fk
S 18-8-40
s s
BMLavo)—+k B
5 10
N
T Ff - M H 1 = =R VAE - 'q = | i B
o = —
R T 27 )= M 51340, 100) /240, 589410 )
18-8-40 m 1.805
BLar7 =M 50
t=10cm 2

m 3. 500




W TR

Bl EYRE T

T # i 3 #1 % o

o>
Wk

A
BIGFAE
AL T FES 5 AF KE+ D 5 4% ke 9.5 9.5| 1. 9ke /2%




&R ARER T

i A1 22

=<1 AN = FIIX | EF2IXK | BFE3ILX | F4TX | FE5ILX | 6 LX | 7 LXK
T T T B A ¥ s & i
THAEKT =+ FIE - 1HIH t=20cm m° 46. 19.8 14. 4 12.6
BB S A W=3.0m m?> 234, 99.0 72.0 63.0
AL BRI 22X 1524 X 3048 e 52. 22.0 16.0 14.0
HEAGERR & 0.802t/#% t 41. 17.6 12.8 11.2
{5k B T KAE+D S T fE 4 5. 4.0 1.0
PEF 15 17. 4.0 4.0 5.0 4.0
EHES R 5. 4.0 1.0
AN T DI
i B HE K T R THEK ST 4.
W THEK
IKEE T H 47.




T HER (BEkiR)

o

L
37
5]

=R

3000

Y
(t=22mm)
B3 TXIEE= 33.0 m
B4 TXIERE= 24.0 m
7 LXRIERE= 21.0 m
T f& - M A H =X AL %% & | M 1
%3 TX
ZRLAB - BB 0k, 200433, 0 ,
t=20cm m” 19.8
k=<1 & %m =
BEBBEE B o 004es0 ‘
W=3. 0m m?2 99. 0
OBk R 0 E KK 53 0/1. 524
22X 1524 X 3048 b 22.0
1 & pt==1 rL =N
Bk ERRE) a0
0. 802t/Hc t 17.6
B4 TX
RLAR - BB o 00k, 200424, 0
t=20cm m® 14. 4
#fr & gru =
BBk B ORX & o FE 3 000%24. 0
W=3.0m m?2 72.0
OBk R B 24 0/1. 524
22X 1524 X 3048 e 16.0
i & N==3 Iﬂ.. =N
ook O E Rk = 16%0. 802
0.802t/#c t 12.8
57 TX
5l .« 7
LW -HEH 3. 000%0. 200%21. 0
t=20cm m® 12.6
Hil & =u =3
a7 T R AT 3 000%21. 0
W=3. 0m m? 63.0
Ok o O 21 0/1. 524
22X 1524 X 3048 ¥ 14.0
L & pi==1 J'L =N
ook e E Rk = 1450, 802
0.802t/# t 11.2




5 1 TXAGRFYIRM L0 5 T

EciER)

= =
TN L TR L
2 x 1100=2200 2% 1100=2200
::r'.
oD
L]
T F& mooH B E2V BALT| $ & C2)
K B+ o 5
2+2 ‘
U 1% 4.0
K B+ o 5
2+2 ‘
PELT 18 4.0
K B+ o 5
2+2 ‘
= 4% 4.0




FH2. 3. 4 LXK -0 5 T 484 1

= =
Tt ok
2 x 1100=2200 2% 1 100:220[}
(8zF) (8zF)
o1
(==
=
T & o H B = HAL| %% &= | 1 G
x M + o )
PR % 0.0
X B+ o 9
2+2 ‘
Pafr 4% 4.0
X B+ o 9

= 4% 0.0




%5 LRIUHRIIAE LD S T Jo.

= =
i fl ubyinn
J3x1100=3300 gx1100:2209
(2%%ErF) (BxF)
o1
o0
[
T F& mooH B E2V BALT| $ & C2)
X B+ o 9
3-2 ‘
U 1% 1.0
K B+ o 5
2+3 ‘
PELT 18 5.0
K B+ o 5

ez | 1% 1.0




o, 7 LAk 9 T 484 1

= =
Tl TR
2 x1100=2200 2 % 1100=2200
(BxF) (8=F)
o7
o0
[
T F& mooH B E2V BALT| $ & C2)
x M+ o 5
U 1% 0.0
K B+ o 5
2+2 ‘
PELT 18 4.0
K B+ o 5

= 4% 0.0




